Answer Key

Lesson 1-6 Lesson 3-9
19. 6(g +a) + 3g =6g + 6a + 3g 2. Jeep 465 miles Truck
distributive property f N
= 6g + 3g + 6a F‘\l:%l 3 ﬁ
commutative property (+) Melbourne

= (6g + 3g) + 6a
associative property (+)

= (6 + 3)g + 6a
distributive property

= 9g + 6a
substitution (=) Lesson 4-1

Chapter 1 Review 10-19. y

1.5-1+6+2=8 2.3-(8+2)=30 K.

3.9-(5-8+42=1

4, 2x + Tx + 6y + 8x = 17x + 6y

5. 5(n+1) +3(n+6)=8n+ 23 o YI |l x

6. 6 + 5 =5 + 6; commutative property (+) Q
G P

Chapter 3 Review

1.-3 2.5 3.-12 4.6 5.7 6.-30
7.-7 8.31 9.-9 10.4 11.8
Solution to puzzle: algebra is fun

Lesson 2-1

5. bt Lesson 4-5
32-101234567 2.y=3x—5 V|4
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Chapter 2 Review o T Tx

la. 1°C 1b.5°C 1le¢.-7°C 1d.3°C o X
le. —2°C 1f. 21°C 2. Berlin: 34°F; 11.
London: 42°F; Montreal: 18°F; Paris: 38°F;

Beijing: 28°F; Sao Paulo: 74°F 3. Sao Paulo,

Brazil, is in the southern hemisphere, and
December is summertime in the southern
hemisphere. 4. Answers will vary. o) X
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Answer Key

12. y 13. y 10.y = —x + 3
O X y /
[o] X r
\\ //o /I X
P /
14. y 15. | 4y N
N[/
(o] X
[o] X
Lesson 6-1
1. 1 2. 8l
16 7 19 20 21 22 2 R S
. *y . y I I I T T
N 6 7 8 9 10
— 3. ~———4— 4. et
—10 10 11 12 13 1 2 3 4 5 6
“lo
- 5. —t—t—
g2 IR - 5 ,, -15 -14 13 -12 -1
6. | |_0'|11 | |
. -0.3-0.2-0.1 0.0 0.1
Chapter 4 Review
Clue 1: D = {0,5}; R = {1, 3} Lesson 6-4
Clue2:{(0,5),(—2,4),(—2,3)} 1. TN T NN N TR N S|
Clue 3: The points are: (-2, —1), (=1, 0), 9-6-303 6 912
and (2, 3).
Clue 4: no; yes; yes 2. —:8 -:6—:4 _:2(:] é ‘:‘ é
Clue 5: 4
y 3.
2345617829
4. S
[0) X -4-3-2-101 2 3 4
5. —————+—
-12-8-4 0 4 8 1216
. 6. ——————F—
Chapter 5 Review 234567829
1.m=-2 2.m =0 3. undefined slope ", T R
4.y =5 5.x = —5 6.Sample answer: 321012345
y=3=2x+5. 8.m=—1
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Answer Key

Lesson 6-5 Lesson 7-1
oo 1. y 1 2. y
3-2-1012345678 91011
@5
2. —§ ={x+2
: : : T : : =X+ 2 =2x+1 [e]
2-101 2 3 US ex-1- "
3. 8 ° X
— /
3-2-101 2
4 3. Y| |#
" 43210123456 @3
5. —ttt—+—t+—+—t+
1012 3 4586 7 °/ X
6. iBE7 ARaR
-4-202 4 6 81012141618 20 VAL’
7o e—
1 2 3 4 5 4. &
B i —
-4-3-2-1012345678 910
(a}5,55.5)
Lesson 6-6 yE109x
3. vl || 4 4. y yaxel
X
[o)
o) X
o X 5. W (48,11 y
¥
5 v 4 6 " y 3x+3y=9
//
(o] X
2X+ Yy =5
/ |0 X
1 Y X
o)
7 y 8. y
(o) X
N
ol % - >
Chapter 6 Review
l.x=4 2.t>4 3.n<4 7.w<5and
w>-3 9. p=5borp=-3
NY YANKEES TICKETS
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Lesson 7-5

Xl=
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7 y ~ 8
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o|, X v £
2y +2=|2x, y42=X g
’ o) X
¥ y+4)=4
9 MY
\
x=0] \ 3x+y=6
\
X
[e]
\ Lo
| -t X+ay=11
=F
\

Chapter 7 Review

Gold: (=2, 4); Silver: (4, —3); Diamonds: no
solution; Jewels: (—1, 0); The gold is nearest
to the starting point, (0, 5).

Chapter 8 Review

1.18x7 2.2x 3.2x3 — 6x2 — 2x
4,203 +2x B.x+5 6.x2+ 11x + 30
7.6.5 X 102 8.2.47 x 106

2,470,000; $24,700

Chapter 9 Review

1.9x(2 — y)  2.2x(2x2 + 3)

3.(x —8)x+8 4.(x—4x+4)

5.2(x —4)x +4) 6.(x+ 2)(x + 4)

7.x —4)(x —2) 8.(x —3)x +4)

9. (x —4x+3) 10.(x + 2)(x +y)

11. (x + 4)(y —x) 12.(x + 4)(x + 2y)
The outdated technology: EIGHT TRACK
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Answer Key

Lesson 10-1 Lesson 10-5
1. & 4 y 1. y 2. Y
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X \=2 0] [ 2] ax ]
\ LT 0 % Chapter 10 Review
\ o AR Hole 1:y = —a2 + 2x + 5
- f \ A
12/ y \ QO
X6 / \
/ \
8 A AV 9. Y| 4 70 x
\\ I’ \ / [ ' J
Hole 2:y =x2 — 6x + 1
\ / y
\ [/ Ae 4
\|/ /
[e] X [e] X 7% /
gN\1 234 s,/fﬁ
I IN&/ O
° T
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Answer Key

Hole 3:y = —2x2 + 12x Lesson 13-5
y

N la. -

VAR S ——

'5/ 0 6 12 18 24 30 36 42 48 54 60 66 72 78

§ 2a. 1928-1947
o \o a

O 123456x

4 ] 1980-1999
Hole 4:y = 4x2 — 8x + 4 b —————————

& y 4 90 110 130 150 170 190 210 230

3 /

4 Chapter 13 Review B

E\ / |ZM|A|1“n ||x| z _ |’n|n|u|n‘s i _ E

! ‘ |'"n|nnv|e|u|||:uc|z| E s v|s|1[mA1| c| Z

o) 1 2 | X 12 1S Rl L L A L]

E B AlMlPLEl I E "FnEu|uEM|c|v|
Chapter 11 Re‘lieW r‘"|llsinln . AlMl "; ||M|E|u|s|||u|u|s|
1. 8 (X—Leaky Roof) 2. 4|x|\/5 ODBDnEoon
3.6b2|c|V2ab 4.3 (X—Leaky Roof .
[e[V2a (X—TLeaky Roof) Chapter 14 Review
5.V6 6.-3V5+4\V7
1.120 2.40,320 3.5040 4.42 5.10
7.0 (X—Leaky Roof) 8.3 +2V/3 va 6.56 7.24 8.60 9.720 10.504
30 —5V3

9. —32 (X—LeakyRoof) IO.T 11.45 12. 84 13.1;43 14.%

Chapter 12 Review
1.?;—’“ 2.8 3. 2t4 49 5a2+2%—1

3 2x + 4
-8 22 —3x+1
6.6 7'35x 8. -3

X2 +2x +1
x+54
3
x> +3 362,880
X2 -9
x=2
a-8® * a butterfly

2x+4
.
X2+ 2x +1
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